07 (3).3

(mod 7)
blocks | defect matrix
G - 1 1 7x6
2) 1 7%x6
3=29 1 7% 6
4 1 7%X6
5 0 24571 = Xo+, P+
6 0 22751 = X12,0, 12,0
7 0 22752 = X121, P12,1
8§=7T 0 22753 = X122, P12,2
9 0 68251 = X13+, P13+
10 0 163801 = X174, P17+
11 0 163802 = X204, Y20+
12 0 94501 = X23,0, ¥23,0
13 0 94502 = Xx23,1, ¥23,1
14 =13 0 94503 = 23,2, P23,2
15 0 182001 = X25,0, ¥25,0
16 0 182002 = X25,1, P25,1
17=16 0 182003 = x25,2, 25,2
18 0 182004 = X26,0, 26,0
19 0 182005 = x26,1, ¥26,1
20 =19 0 182006 = x26,2, ¥26,2
21 0 546001 = x27+, P27+
22 0 241921 = 36,0, ¥36,0
23 0 241929 = 36,1, ¥36,1
24 =23 0 241923 = 36,2, 36,2
25 0 273001 = x37,0, 37,0
2 0 273002 = x37,1, P37.1
27 =26 0 273003 = x37,2, ¥37,2
28 0 873601 = Xx38+, P38+
29 0 873602 = X1+, P41+
30 0 1228501 = X444, Paa+
31 0 1228502 = xa7+, Par+
32 0 1397761 = X504+, P50+
33 0 1474201 = X534, P53+
34 0 1474202 = X564, P56+
35 0 546002 = X59,0, ©59,0
36 0 546003 = Xx59,1, ¥59,1
37 =36 0 546004 = Xx59,2, ¥59,2
38 0 1638001 = X60+, P60+
39 0 1638002 = Xx63+, P63+
40 0 1990171 = X6+, P66+




blocks | defect matrix
41 0 4914001 = X694, P69+
42 0 1842751 = X72,0, V78,0
43 0 1842752 = X72,1, 78,1
44 =43 0 1842753 = X72,2, 78,2
45 0 5528251 = X734, Pro+
46 0 6988801 = X83+, P83+
47 0 6988802 = X86-+, P86+
48 0 2457001 = x89,0, ¥89,0
49 0 2457002 = Xx89,1, ¥89,1
50 = 49 0 2457003 = x89,2, 89,2
51 0 7862401 = X90-+, P90+
52 0 7862402 = x93+, P93+
53 0 2912001 = x96,0, $96,0
54 0 2912002 = x96,1, P96,1
55 = 54 0 2912003 = 96,2, 96,2
56 0 2912004 = x97,0, ¥97,0
57 0 2912005 = x97,1, P97,1
58 = 57 0 2912006 = x97,2, P97,2
59 0 8736001 = X98+ Pos+
60 0 12579841 = X105+, P1o2+
61 0 13977601 = X108+, P105+
62 0 4914002 = x111,0, ¥108,0
63 0 4914003 = x111,1, 1081
64 =63 0 4914004 = X111,2, ¥108,2
65 0 7168001 = X113,0, ¥109,0
66 0 7168002 = X113,1, ¥109,1
67 = 66 0 7168003 = x113,2, ¥109,2
68 0 7168004 = X114,0, ¥110,0
69 0 7168005 = Xx114,1, ¥110,1
70 = 69 0 7168006 = X114,2, P110,2
Block 1: | 10 ¥s0 ®160 %240 $s20 $101,0
i =x1,0 1 - 22;2
3007 = xs,0 1 1 . 7
©16,0
28081 = X16,0 . 1 :
175501 = xa4.0 1 1 et
2187001 = x82,0 . 1 1 ’ re20
3328001 = X101,0 1 1 Lo

5314411 = x112,0

11

299,
2808,
172514
201449,
3299924



Block 2:

Y1,1 P81 ¥Pi16,1  ¥P24,1  ¥82,1  $L101,1

lo = x11

3002 = xs,1
28085 = x16,1
175502 = X24,1
2187002 = X82,1
3328002 = X101,1
5314415 = x112,1

1 .
1 1

Block 3:

V1,2 P82 Y16,2 P42 ¥P82,2 ¥101,2

I3 =x1,2

3003 = xs,2
28083 = x16,2
175503 = X24,2
2187003 = X82,2
3328003 = X101,2
5314413 = X112’2

1 .
1 1

Block 4:

P2+ P5+ P30+ P33+ P12+ Pr5+

7801 = X2+
7805 = Y54
702001 = x30+
702002 = X33+
5686201 = Y7o+
5686205 = Y7o+
9984001 = X102+

1

P11
©8,1
$16,1
©24,1
©82,1
¥101,1

¥1,2
©8,2
©16,2
©24,2
82,2
©101,2

P2+
Ps+
¥30+
P33+
P72+
Pr5+

1o

299,
2808,
172515
201449+
329992,

13

2993
28083
172515
2014493
3299923

7804
7804
69420,
694204
4992004
4992004



